fe TAPE 3800 m903 ACKLEY

OCTAL

DA3000q 4q cak3 ts40 8p3500 sph4

esl tsk6 k13,81401 ealk6 spki
k7,81403 ao3k6 epkT7 dvks si423 dvks
dvks 81413 dvks si431 siko1 si433
sil13 dvks siy3q si734% ea tdk10
epk8 aok10 sulkh epki10=-2 calkb
ts3kb ki1,s81%03 ao3k6 epkil dvks
avks si423 avks sil13  dvks sik31
si423 dvk5 81413 dvk5s 81431 81734
md3477 md6k6 ki%,clec epki5 aokilh sulkh
es3477 epik3s

k40,s81401 spk20 81734 sil¥13 dvks si423
si423 ado esk23 tsk35 k41,s1%03 ado
dvk5 s1403 dvks silk0o3 dvks si413
si423 ado csk24 tsk35 k4#2,s1403 dvk5
ado epkh2 si423 dvks sik23 dvks
81413 ado csk24  tsk35  k43,s4423 ado
tsk35 k44,81403 ado .ﬂ)Ladméé epkid
avks sik23 dvks s1403~ dvks si%13
sik23 ado cﬂxg;() £sk35  kU5,s1403 ado
tsk35 K46,8142% 0/ ad0  aok35 cpkh6
avks si423  dvk5. | s1403  dvk5 81413
tsk35 K4T,81423 7, V' ado aok3s opkiT
davks 81403 dvks si413 ado esk27
ado aok35 epk48 s1403  dvks si403
spk20 ckk28 ca2001 ckk29 ca2101 ekk30
ca2102 ckk32 ca2003 ckk29 ¢a2103 ckk33
ek0 spik35

k20, tak20+49 cal si713 cak21 12000
k21,81400 x22,s14000 k23,422 k2k4,+11
k25,+10 k26,424 k27,425 k28,812105 k29,811
k32,0,25240 k33,0.37760 k34,0,37770

si734 aok6b

epki3 812 rd epki6  spho k16,8113
mdkh4 suk¥ ts3 ca tdk2 ca3
sulkd epk2-1 k3,s8p cak2 elel0 81713

si734 c82k6
s1443 avks
s1431 si423
calké md3477
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si423 avks
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